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ECONOMICS

Paper : ECO-HC-6026
( Development Economics—II )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10

e PR R (@l 7o e i

(a) Define demography.
Togd e il | ~

(b) Give one example of renewable
resource.

TR ST GOR Trre faan o
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(2)

(c) In which year was Paris Agreement on
Climate Change held? '

@M S w1 RIS ¢ifRg pfe rnfis
2R ?

(d) What is meant by land tenure
relations?

R 71 7w o R 3@ w2
(e) Define public goods.
LA GIR e faan o

(/) Give one key success factor of
governance.

T IRER Y STFTOR IS 901 for |

(g) State the meaning of individual
behaviour.

Foq 63 S I 41 |

(h) Write one reason of urban population
growth.

Foi PR 2T 9O IR AT
(i) What is life expectancy?
R SRR $2
() Define crude birthrate.
SCNTES TRRT SR |
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(3)

(k) What is population dependency ratio?

GPRIA ST Srs e & 3= 2
() Mention one problem associated with
land.
SR 9SS 91 TP SCEY 47|
(m) Give one characteristic of social group.
SIS S8 «b1 Cafgy fera |
(n) What is microfinance?
Ty fFaqew 2
(o) What is meant by common property
resource? |
SR 7S 7w e [ e w2
2. Answe_r any five from the following
questions : 2x5=10
Sod 2PTRA R @I siiobre Tes fian

(a) Define sustainable development.
I2THY Gaged SiRe frd |

(b) How does population growth contribute
to the development process of
developing countries?

Tage (e SR YA SagEd afdre
ey sz @ 2
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(4)

(c) Write down two problems that have
been seen in rural credit market.

T A IS ¢ Al qo1 A o o

(d) Mention the major eras of globalization
in the last 150 years.
@R Seo IxAS fPIEER o= IsCIBGI SraA
|

(e) Point out two most common deficiencies
involving in governance.
o eEe @l qh sieRe @ oaw
*q

() Give the definition of general fertility
rate.

YR IR T A3A faa o

(g9 What are the functions of individual
behaviour?

Fog HHIH INRAR F F 2

(h) Mention two areas where developed
countries can help developing countries
to protect environmental degradation.

ARCPIS WS @Y IR TAo oree
Tagae oere TR IRI o[ 1 oFa SeEy
T4
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(S)

3. Answer any four from the following
questions : Sx4=20

Goq 2P R e vifsorR Tes fan

(a) Briefly explain the relationship between
nutrition and labour productivity.

LEEACCRIE IO S (S ST R Cran R 2 (6
A 01

(b) Point out the main determinants of
good governance framework.

P IR 3 RIR01 Soad 3940

(c) Explain the purpose of the study
of individual behaviour in social
environment.

ANIET RS Fo7 A9 FURH IR Soe
=0 40

(d) Write a note on financial instability
in a globalized world.

credige fre Ry wfEaeon s[e «ft Gr
form |

(e/ What are the consequences of
migration? Explain.

1ER ARefS & 2 Imam 4
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(6)

(N Explain the interrelationship between
economic activity and climate change.

SfAfes I WF TRy ARTSR TES o=
SRITECe] T 4 |

(g9 What are the causes of gender
inequality in a family?

*fRArei fowe® feizst (/IR FRIER [ [ 2

(h) Explain the inter-linkages between
rural factor markets in developing
countries.

TRTNE R AT BHMEY ISRERT TS 430
SIS SHCIISCO] AT 47 |

4. Answer any four from the following
questions :’ 10x4=40

oo PP R e wIfRoR e fi

(a) Examine the major contributions of
agriculture to the process of economic
development.

gftafes Tmw ofeFe IR I IRETIR
{31 91 | '
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(7))

(bp) Discuss how globalization affects
the commodity trade of developing
countries.

R TawRE (R 99 IS [ Ao
ColAIRCR, SICATSAT F41 |

(c) Explain the functioning of credit market
in a rural economy.

S SLAO® Y IHEI FEFIRST I I 1 -

(d) What is migration? What are the factors
that lead to migration?
sgee e R @2 o R IR v amEA
NS 24 ?

(e) Critically discuss the demographic
transition theory of population.
GPRAA GPRANS AR TGO STACAAT
RPN HCATOAT 241 |

() Discuss various measures of land
reforms. How does it affect the
productivity of agrarian society?

SR SicgRy Rfen IIEEHR DA 3411 @R
IREPTCR FRFRET A BeAmeTor 8RS
I A AR ?
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( 8)

(g) Discuss the factors which influence
individual behaviour in an organization.

1 BTS ToR ABGITE AS(AS T FREIR
el 41 |

(h) Discuss the terms governance
in organization and community

governance.
RAST P SF IR P @2 PR [y
SCEATSAT 341 |

(i) Explain the connection between income,
mortality, fertility and human capital
accumulation.

R, JPRM, TR HEF A TEA4q SRR
IS SICI4ICO! AT 541 |

() Explain the decline in the efficiency of
an organization in terms of Hirschman’s
exit, voice and loyalty theory.

AR oM, 7 W AP o9 ke
R AOR el e ZPT IR, 1 41 |

* % *
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